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oS AFzHH] 9] EE H 17 sin 70° 4 cos 50° X sin 25° 4 tan 70° 9] #&
“FoHH?
e sin cos tan
25° 0.42 0.90 0.46
50° 0.76 0.64 1.19
70° 0.93 0.34 2.74
@ 3.9188 @ 3.9288 3)3.9388
@ 3.9488 ® 3.9588

(£4]) = 0.93 + 0.64 x 0.42 + 2.74
= 3.9388
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18. 0°<A<90° ¥ off, oh&= {ts] 5pH?
\/(COSA +1)%+ \/(cosA 1) + Vicos?A

@ cosA-1 @ cosA+2 @ 2cosA-1
@ 2cosA+1 <@>2cosA+2
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19. /C 7} A7kl H7Ht7+E ABC ol AB = 2, BC = 1 2

(sin B + cos B) (sinA — 1) &] 3127
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2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@® 8.192 @5.736 ® 5.878 @ 8.09 ® 8.29

/C = 55° o|B 2
x =10 X cos 55° = 10 x 0.5736 = 5.736
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31. o8 ¥4 AH =10, /B = 30°, /ACH = 60° ¢ ©], AABC ¢

sol=?

100 V2 200 V2 100 V3
O 3 @ 3 @ 3
@ 20%\@ ® 100

~&B ~
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ABAH oA BH = 10 tan 60° = 10 V3
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V3
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ohe % A7) grel tia BAR $7) g AL BE 7297
@ sin 20° < sin 49° @cos 10° < cos 47°
® sin45° = cos45° @cos 60° > tan 30°
® tan23° < tan73°

90° Q1 W0 A x 9] Zho] Z7F5Hd sin x, tan x 2] g2
P57t
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34. 45°<x<90° ¥ W, V1 -2sinxcosx+ V1 + 2sinxcosx & 7tet

SHH?
@ -sinx @ -2sinx @ sinx
@®)2sin x ® 3sinx

4

45° < x<90° ¥ I, 0 < cosx < sinx O|B=2
V1 —2sinxcos x + V1 + 2sin x cos x
= \/sin2x+6052x—281nxcosx

+1/sin? x + cos? x + 2sin xcos x

= /(sinx - cosx)? 4+ /(sinx + cos x)?
= (sinx — cos x) + (sin x + cos x)

= 2sinx




35. T2 AHZH] 5 B3 c0s25° +sin25° xsin50° — tan 50° & 4
2ot B A27NA TR

e sin cos tan

25° 0.42 0.90 0,46
50° 0.76 0.64 1.19
70° 0.93 0.34 2,74

@® 0.06 @ 0.05 ® 0.04 @0.03 ® 0.02

S5 \
c0s 25 ° + sin 25 ° X sin 50 ° — tan 50 °

=0.90 + 0.42 x 0.76 — 1.19

= 0.90 + 0.3192 - 1.19

= 0.0292

= 0.03




